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NEW QUESTION 36

What is a characteristic of analog beamforming?
* Primarily use for adding capacity

* Support MU-MIMO

* Radiating elements each have separate TRX

* Only transmits one beam at atime

NEW QUESTION 37

5G transport network is a combination of three transport components. What are those 3 units?
* Access Midhaul &#8211; Metropolitan/Core &#8211; Access Fronthaul

* Access Backhaul &#8211; Metropolitan/Core & #8211; Backbone Core

* Access Fronthaul &#8211; Metropolitan/Core & #8211; Access Midhaul

* Access Midhaul &#8211; Metropolitan/Core &#8211; Mobile Access

NEW QUESTION 38

Which protocol can be used between the radio and DU function on agNB?
* SDN

* eCPRI

* eMBB

* TDM

NEW QUESTION 39
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What differentiates 5G radio planning tools from 2G and 3G radio planning tools?
* Cloud feature leveraging

* NFV and SDN introduction

* New antenna pattern and beamset

* Closed loop services

NEW QUESTION 40

Which ofthe following 1$ a valid access method to 5G technology?
* WLAN access

* Cellular access

* Fixed access

* All of the above

NEW QUESTION 41

What needs to be done to the deployed fiber assets, in case a network is upgraded from a 10G to a 25G fiber access network?

* Single mode fibers need to be swapped by multi-mode fibers.

* Dedicated developed fibers for 25G speeds need to be deployed.

* Thisisan impossible upgrade.

* Don&#8217;t worry, your fiber assets are future proof, no swap is needed.

NEW QUESTION 42

Which of the following Is a functionality of the User Plane Function (UPF)?
* Connects to external networks via N8 reference point

* Sends traffic usage reporting to the SMF for charging

* Enforces policies received from NSSAI and applies them as slices.

* Acts as the interconnection point with Non-3GPP Access networks

NEW QUESTION 43

Which of the following stepsis NOT used in the Network Slice Orchestration lifecycte management?
* Create

* |nitiate request

* Manage

* Terminate

NEW QUESTION 44

Which of the following is NOT avalid method to route the data to the destination during roaming?
* Home-routed Roaming Architecture

* | TE-bypass Roaming Architecture

* | ocal Break-out Roaming Architecture

* None of the above

NEW QUESTION 45

Which of the following $ NOT defined by 3GPP as a category for SON?
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* Self-scaling
* Self-configuring
Self-optimizing
* Self-healing

*

NEW QUESTION 46

Concentrator location is done during which phase?
* RF design

* Detailed design

* Digital twin creation

* X-Haul design

NEW QUESTION 47

Which of the following Is NOT an advantage of offloading mobile data to a fixed uplink through a wifi network?
* Free-up RAN capacity

* Lowering costs of data usage

* The end-user isresponsible for the Wifi network

* Provides better coverage inside the premises than 5G

NEW QUESTION 48

Ethernet Virtual Private Networks enables :

* Network virtualization in data centers

* Enables dynamic traffic engineering services

* Segment routing-traffic engineering

* Exposes the full topology to the SON Controller

NEW QUESTION 49

Isthe FTTH technology suitable to serve as a fronthaul of the 5G cells?

* No, because an FTTH network was devel oped and deployed to connect homes.

* No, because an FTTH network has alimited capacity of 2.5Gbps down and 1.2Gbps up.

* No, because an FTTH network can&#8217;t deal with the 5G latency, capacity and performance demands.

* Yes, re-using the FTTH network reduces costs, speeds-up deployment and FTTH is still being improved to reduce latency and
increase performance.

NEW QUESTION 50

When is a non-standal one deployment needed?

* When you need 4G RAN to provide al 5G services

* When you need 56 RAN to provide all 5G services

* When you need to have interworking between 4G and 5G core
* When deploying 5G RAN but want to use 4G core

NEW QUESTION 51

In an Option 2 deployment, when additional capacity is required, what is the best solution?
* Carrier aggregation for 4G cells
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* Dynamic spectrum sharing
* Dual connectivity
* Carrier aggregation for 5G cells

NEW QUESTION 52

Why I's beamforming coverage better for 5G compared to 4G?
* Lower frequency deployments

* Beam sweeping SSB

* Higher frequency deployments

* Better uplink coverage

NEW QUESTION 53

In an SDN network the traffic engineering is:

* typically conducted by operators on ayearly or quarterly basis
* conducted near real-time, on agranular second or minute basis
* conducted offline

* conducted by the operators upon the appearance of a problem

NEW QUESTION 54

Which 3GPP Release 15 deployment option features an only LTE Network { RAN and Core)?
* Option 1
* Option 2
* Option 3
* Option 4
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